No. Items Score
1. | Using the picture, fill in the box with one of the symbols “<”, “>” or “=" so that the Ll L
statement becomes true. o | o
2 | 2
V5 V5.
On the picture, the graphs of the continuous
2. . L |L
functions f, g:[0;4] — R are represented. 0l o
Using the picture, fill in the box with one of the 2 | 2
symbols “<”, “>” or “=" so that the statement
becomes true.
4
3. | On the picture the straight lines BA and BC are Ll L
tangent to the circle with the center O at the points A 0ol o
and C, respectively. 0 C 2 | 9
Write in the box the degree measure of the angle 120°
ABC, if it is known that m(2A0C) = 120°.
A
m(£ABC) =
B
4. . log,s3 =
Calculate the value of the expression 7 Biw® 372 L | L
Solution: 0] 0
1] 1
2 | 2
3|3
4 4
Answer:
5. 2 _

. 5+3i . . .
Consider z = 1—,1— 21, where i —1. Determine the absolute value of the

+i
complex number Zz.

Solution:

Answer:

ar~rwNDEFROC
ar~rwNDEFEROC




Solve in the set R the inequality V1 — x < v/2x + 4.

L | L
. 0|0
Solution:
1|1
2 | 2
313
4 4
515
Answer:
Consider the parallelogram ABCD, where m(2A) = 60°, AB = 4 cm, BD = 2+/7 cm. Lol
Determine the area of the parallelogram ABCD. B c o 0
Solution: 1 1
2 |2
3 |3
A D 4 |4
5 |5
6 |6

Answer:




Consider the function f: (g, +00) - R, f(x) =$— 1. Determine the

antiderivative F of the function f, so that x = 1 is the abscissa of the point of

intersection of the graphs of the functions f and F.
Solution:

Answer: F: (%, +oo) - R F(x) =

oA WNERER O

oA WNERER O

Four dice are rolled simultaneously. Determine probability of rolling a sum of 22.

Solution:

Answer:

ar~rwNDEFEROC

ar~rwNDEFEROC




10.

The base of the right prism ABCA;B;C; is the triangle ABC, where m(zA) = 90°,
AB =15 cm, AC = 20 cm. Determine the distance between the vertex A; and the edge
BC, if the volume of the prism is equal to 750 cm?®,

Solution:

Answer:

oA WNERER O

oA WNERER O




Consider the expression E(x) = 2sin(2x) tg x. Determine the real values of x for

11. _ L |L
which E'(x) # 1. 0 lo
Solution: 1 1

2 |2
3 |3
4 |4
5 |5
6 |6
Answer:
2
12. | Consider the function f:R = R, f(x) = m(x — 1)e* — x? Determine the real | L | L
values of m, for which the function f* has a unique critical point. 0 0
1 1
Solution: 2 2
3 |3
4 |4
5 |5
6 |6

Answer:




Annex

a°8«b =p g e R} \ {1}, b € R}
log, b =clog, b, a e RL\ {1}, bER},cER

log,c b =%logab, a€RL\{1}, bER},c+#0
(x*) =ax*1, a€eR
(e*)' =e”
9 =fg9+fg

1
j—dx =In|x|+C
x

xa+1
a j— —
fx dx—a+1+C, a € R\ {—1}

sin(2a) = 2sina cosa

- 1 — cos(2a)
sm-a =———
2
1
CAA = Ea ' ha
vprism =A,H

‘Aparallelogram =a-h,



